<D
: Find the ?calw Vo /Vs For the cipenait

T AI=NEY

The Vo llese e _p0‘.w*)~ a wi\)l be Vs Drreusc
no cww\_w\% pecsses frown 1 2z, Oy The

\fV‘bV&' 5 Re, He vo H%Q a2t a 15 The
Ao Waa.e RiNision

V§= ' No o
16 = 410I1=
2
YY) !




&, 1) Einv®R Vo cons /\50 b H/\e. ‘Vé\\ow;ua
‘ é:‘ﬁ—Cu\;‘E,

>V

prs

Th= \)&Hduﬁn a}V Dc;iu* 2 s

VN, = _2xlok _ 2V
1Pk 4+ 5%

The \)aHaﬁQ L‘J&Q \/, = sz 2.5,

UJL‘\~N\5 =N vxoé\a»? -Qev,v\eo\f‘m) A}[’ \/l ﬁ“VQ'5)’

2 e 59 2 - Vo - D
2K TK
~y 4+ 2=V =P
\E ey

-Qxl-q/. —A s e A

Ay = o
2K s g I

e g A S S N T A TR NVt 5

b? - —lwmp [

S s csica




&%

Favd N, e A, v the wfo)’cowwj ciprwil|

Nb ruuv\a:v“’ -C\ow5 ﬂzpm 1 ‘\;o 2 e
\)ﬁ]“&ﬁ@ \/1 = Vzo

T e \)oHuﬁf_ a'/"%‘ Vl e jivav 193

\)l: |,<70,<-

= p.gV
ok 92k

S \)‘L‘:. M, & o.FYV
Put V. is «lse ﬁf\mu !43

No =~ Vo X GO - Vo

PRy

GOK Y100k z

\)0 = ) \}—1_ e QIP%DI‘:?V

\)oz 10‘7\/
s = /\lpp + A e
= Vo _\_)_Q__ = 2:(7 i57~207
- E17A & )OK ]6*0};;}— ] 56K
A, = 2.7 (ie] = 6,229 wm A
L E@"OKS’ ] v




v \/p ~fm "H\@, *'{‘E‘DHCDL.U'”V»S Cﬂl"\?CMf‘}

~

V,—4 e \/l—-}/a A7 \/1_\/.5 e
=) 4 9K LK

g%+ V') N 7.%-';\}5 ~D

7 1':\-—-—;

ny
\s =N, oI Ve = Vo
AN K | 1K

\)6 *-'\)J - 1V$ - 7'\}0 :'23 i

§ /7/
[Nyi= 3Ve-2V% :
PuXx (2) awke (1)
5’ (/’%\/6 ..-.7,\/@?3 = \fo — L \)9:: V]%
'\5-\)6 pad \D\)D “‘\)D “2'\)5 = )<é
'\"b\]é = Y\ Vo + ¢

M oz i e = 1B
2‘\\ | W Vs = o

\)0 — ‘-»1;[9'2;‘@\)“ g

=0




l/_l_ + V \)D V\ e UD

-
+ = 4k

ELS B4 )2 I

- Bl L i T S e

L 7V\—-?V0=w4é”§ D

e AR ST T T e it i =

M @

WY+ M s o
LK bk

m ""\]\W O-) [2)

u\b —{7*1 \’\A)'/L, 67/) M)*Lo [;)

. (1\)0) "‘—%\] = %4
IWNe = 49

s R
oy e ST S i S "/

B

/lx =VNo _ 5,7273 MmA
(e )T

Ap = e e
Y o R T J

e RS

e e,




S Fw® Ax wnd Yhe powen Lisarpeted
| N He 2K vesis Yok

2.
V o e TR =)
H 2 e




5.2 Deermwe  Yhe @u)\pu:& & Yhe Q(_,vw\w\;wg
/mp\.&..e\a.

%ORK >
4+
et o Vo
B=. g2 4 ot % o —Vo -o

N {M b 3ol - ok <3
Lo K A0 2o

Vo = — (> +2 — 3]




5,&00 'FIN‘Q _%_i ‘(DIZ ‘\’(AQ_ \go\‘@wlvus (/»'Bz'uu4~

(‘"‘"4\);{ ‘\"Q‘\/‘ S }S‘\)D = T

:-

®uk

P oK
' Vl " Vox | — = VY, _ 5, (%)
?/\i‘*\OK- {2 P

p,(}z v [Z> \\A)\&aQ (\3

A x5 Vo 4 AN A5V, =0
(e

SV, + \’?,V,{, ‘\-—L"—S\;@'::CD

U e e R 3

L Zo [o

B

Vi

e




	hw06001.pdf
	hw06002.pdf
	hw06003.pdf
	hw06004.pdf
	hw06005.pdf
	hw06006.pdf
	hw06007.pdf
	hw06008.pdf

